
qm=; ljj/0f )&#/)&$  )&$/)&% 
cf=j= @)&%÷)&^ 

sf] nflu  k|:tfjlt 

b//]6 

1 शरुु दर्ता  शलु्क   200 200 

2 सतनो ठेलत  100 100 

३ ककरतनत पसल  200 200 

2 प्रतर्तलपी  100  

  व्यवसतय कर   
   

  lgDg lsl;dsf pBf]u, Aofkf/ Aoj;fodf lgDg adf]lhd jflif{s s/ lnO{g]5 . 

३ dlb/f k;n   
 

  

  s_ ljt/s   5,000 5,000 
v_ yf]s ljt/s   3,000 3,000 
u_ v'b|f ljqm]tf   2,000 2,000 

४ ;"lt{hGo     

  s_ ljt/s   3,000 3,000 
v_ yf]s ljt/s   2,000 2,000 
u_ v'b|f ljqm]tf   1,000 1,000 

५ xNsf k]okbf{y     

  s_ yf]s ljt/s   2,000 2,000 
v_ v'b|f ljqm]tf   1,000 1,000 

६ ;'grfFbL k;n      

  s= km]G;L uxgf agfO{ ljqmL ;f] ?d -s_ >]0fL   3,000 3,000 
v= km]G;L uxgf agfO{ ljqmL ;f] ?d -v_ >]0fL   2,000 2,000 
u= ;fwf/0f uxgf ljqmL k;n   1,000 1,000 

७ cf}ifwL k;n     

  s_ pTkfbs   5,000 5,000 
v_ ljt/s yf]s   3,000 3,000 
u_ v'b|f k;n 8fS6/ ePsf]    3,000 3,000 
3_ v'b|f k;n 8fS6/ gePsf]   1,000 1,000 

८ cfo'{j]lbs cf}ifwL     

  s_ pTkfbs   4,000 4,000 
v_ ljt/s   2,000 2,000 
u_ v'b|f   1,000 1,000 

    
  



९ Pu|f]e]6 k;n 
  s= yf]s -s[lif hGo ljp ljhg, cf}ifwL tyf cGo ;fdfu|L_   1,500 1,500 

v= v'b|f -s[lif hGo ljp ljhg dfq_   1,000 1,000 
10 :6]zg/L k;n     

  s= yf]s    2,000 2,000 
v= v'b|f    1,500 1,500 
u= d'b|0f ;fdfu|L    1,500 1,500 

11 s:d]l6s k;n     

  s= yf]s   1,000 1,000 
v= v'b|f   500 500 
u= df]6/ kf6{; tyf af]l8 ljN8;{ ;fdfu|L   5,000 5,000 

12 n'la|s]zg ;]S;g tkm{     

  s= yf]s   2,000 2,000 
v= v'b|f   1,000 1,000 

13 knfO tyf Unf; xfp;     

  s= yf]s   3,000 3,000 
v= v'b|f   1,000 1,000 

14 Jofu xfp;     

  s= yf]s   3,000 3,000 
v= v'b|f   2,000 2,000 

15 wfuf], 6fs, r'8L, >Lªuf/ k'hf ;fdfu|L k;n     

  s= yf]s   2,000 2,000 
v= v'b|f   1,000 1,000 

16 O{n]S6f]lgs÷sDKo'6/ k;n     

  s= yf]s   3,000 3,000 
v= v'b|f   1,000 1,000 
u= 38L /]l8of] मोवाइल cfbL   1,500 1,500 
3= cl8of] le8Lof]    1,500 1,500 

17 ljB't ;fdflu| k;n     

  s= yf]s   3,000 3,000 
v= v'b|f   1,000 1,000 

18 xf8{jo/, d]lzg/L, k]G6;, ;]g]6/L, dfj{n k;n     

  s= yf]s   4,000 4,000 
v= v'b|f 58, l;d]G6 xf8{j]o/   2,000 3,500 

u_ xf8{jo/, d]lzg/L, k]G6;, ;]g]6/L, dfj{n k;n   3,000 3,000 



3_ k]G6;   2,000 2,000 
ª_ ;]g]6/L, dfj{n k;n   2,000 2,000 
v= cGo v'b|f   2,000 2,000 

19 k]6«f]lnod kbfy{   
  

  s= # kDk jf dfyL   4,000 4,000 
v= @ kDk -l8n/ ;d]t_   3,500 3,500 
u= ! kDk   1,500 1,500 
3= k]6«f]lnod kbfy{ ;j\ l8n/   1,000 1,000 
ª= k]6«f]lnod kbfy{ l8n/ gePsf]  -km'6s/_   1,000 1,000 
r= d6\6Lt]n dfq ljqmL   500 500 
5= Uof; l;ln08/ l8n/   1,000 1,000 

20 l:6n cfNd'lgod k;n     

  s= yf]s   3,000 3,000 
v= v'b|f   1,500 1,500 

21 kmlg{r;{ ,kmlg{l;+u k;n     

  s= yf]s    3,000 3,000 
v= v'b|f    1,500 1,500 

22 ;jf/L ;fwg Ph]G;L tyf ljqmL k;n     

  s= a;, 6«s, 6\ofS6/, lhk, sf/, Eofg l8n/    10,000 10,000 
v= df]6/;fO{sn l8n/    5,000 5,000 
u= df]6/;fOsn tyf cGo ;jf/L ;fwgsf] l8n/ :jb]zL    4,000 4,000 
3= ;fOsn l8n/   2,000 2,000 
ª= l/–slG8;g xfp;   1,000 1,000 
r= 6fo/ l8n/   2,000 2,000 
5= kDk ;]6 h]g]6/ l8n/   2,000 2,000 
h= ljljw ljifosf ;fdfg ;Knfo;{ tyf Ph]G;Lx?   2,000 2,000 

23 b}lgs pkef]Uo j:t'      

  s= vfB ;Knfo;{   3,000 3,000 
v= uNnf yf]s   3,000 3,000 
u= vfBGg ls/fgf yf]s   3,000 3,000 
3= vfBGg ls/fgf v'b|f   2,000 2,000 
ª= ;fgf ls/fgf k;n   1,000 1,000 
r= cfn' Kofh n;'g yf]s   1,000 1,000 

24 kmnkm'n k;n     
  

  s= yf]s   2,000 2,000 



v= v'b|f 7]nf   1,000 1,000 
25 xl/of] t/sf/L k;n     

  s= yf]s   1,000 1,000 
v= v'b|f 7]nf   500 500 

26 sk8f k;n     

  s= yf]s   3,000 3,000 
v= v'b|f   1,000 1,000 
u= km]G;L k;n   1,500 1,500 

27 ljz]if1 k/fd;{ tyf cGo Joj;flos ;]jf     

  s= lrlsT;s    2,000 2,000 
v= sG;N6]G6 8S6/ -Pd=8L=, Pd lj= lj= P;_   1,500 1,500 
u= d]l8sn clkm;/   1,000 1,000 
3= slj/fh   500 500 
ª= sG;N6]G; ;]jf     
r= OlGhlgol/ª kmd{ k/fdz{ ;]jf   2,000 2,000 
5= sfg'g Joj;flo    1,000 1,000 
h= n kmd{ tyf sfg'g k/fdz{ ;]jf   1,000 1,000 
em= n]vf kl/If0f Joj;fo tkm{   1,000 1,000 
`= gS;f l8hfO{g u/]sf] k|lt gS;f   50 50 
6= cGo 

 1,000 1,000 
28 cg';Gwfg stf{ k/fdz{ bftf      

  s= cg';Gwfg stf{   2,000 2,000 
v= sDKo"6/ Pgfln:6 tyf k|f]u|fd/   1,500 1,500 
u= ljdf Ph]G6   1,000 1,000 
3= ;e{]o/   1,500 1,500 
ª= gf]6/L kAnLs cg'afb   1,000 1,000 
r= kz' lrlsT;s   500 500 
ª= z]o/ bnfn   500 500 
r= 9'jfgL tyf 6«fG;kf]6{   1,000 1,000 
5= ;:yfut k]G6;{   1,000 1,000 

29 lgdf{0f Joj;fo     

  s= uf= kf= df k|wfg sfof{no ePsf lgdf{0f Joj;foL     
s ju{   10,000 10,000 
v ju{   8,000 8,000 
u ju{   7,000 7,000 
3 ju{   5,000 5,000 



v= ljb]zL lgdf{0f Joj;foL tyf k/fdz{ bftf   5,000 5,000 
30 ejg lgdf{0f     

  s= ld:r/ / ;6l/ª ;fdfg ePsf]   2,500 2,500 
v= ;6l/ª ;fdfg ePsf] dfq   2,000 2,000 
u= ejg lgdf{0f Joj;foL   1,000 1,000 

31 8]/L Joj;fo tkm{     

  s= 8]/L pBf]u tyf ljqmL k;n   1,000 1,000 
v= 8]/L ljqmL k;n   500 500 

32 pkef]Uo j:t' pTkfbg laqm]tf     

  s= s'lsh, kfp/f]6L, g'8N; pBf]u   1,000 1,000 
v= sGkm]S;g/L pBf]u   1,000 1,000 
u= bfndf]7 pBf]u   1,000 1,000 

33 l/sG8L;g pBf]u   
  

  s= kmnfd s[ifL cf}hf/ pBf]u   2,000 2,000 
v= sfuh Knfl:6s l/sG8L;g pBf]u   1,000 1,000 
u= phf{ d'ns pBf]u   1,500 1,500 
u= jfof] Uof; pBf]u   1,000 1,000 
3= ;f}o{ zlQm pTkfbg pBf]u   1,000 1,000 
ª= dd{t ;+ef/ kf6{ pBf]u   1,000 1,000 

34  pBf]u     

  7"nf pBf]u 

s_ O6f,l;d]G6 / s|];/ pBf]u   50,000 50,000 
v_  l:6n / cGo   40,000 40,000 

 demfnf pBf]u 
 17000 17000 

 

;fgf pBf]u 
 5500 5500 

s= Xo'd kfOk laB't kf]n 
 

 15000 
V= u|Ln 6/fnL pBf]u 

 
 10000 

U= em\ofn 9f]sf agfpg] ;fgf pBf]u 
 

 2000 
3= cGo ;fgf pBf]u 

 
 5500 

35 ko{6g, Joj;fo tyf pBf]u      

  s= xf]6n, nh tyf /]:6'/]G6 -pRr sf]6L_   4,000 4,000 
v= xf]6n tyf nh   2,000 2,000 
u= xf]6n tyf /]:6'/]G6   2,000 2,000 
3= bf]x/L ;fem tyf ufoh :yn   2,000 2,000 
ª=  kf6L{ Kofn];   5,000 5,000 



r= /]:6'/]G6   2,000 2,000 
5= ef]hgfno   1,000 1,000 
h= ld:6fGg Sof6l/ª k;n ;d]t   1,000 1,000 
em= ld:6fGg k;n   800 800 
`= Sof6l/ª   800 800 
6= lrof skmL k;n   500 500 
7=  kmf:6 km'8 P08 Sofkm]   500 500 

 8= tf/] xf]6]n 
 

 35000 

36 6]G6 xfp;   
 

  

  s= ljh'nL 8]sf]/]zg j]G8 jfhf ;lxtsf] 6]G6 xfp;   2,000 2,000 
v= ljB't 8]sf]/]zg ;lxtsf] 6]G6 xfp;   1,500 1,500 
u= ljB't 8]sf]/]zg /lxtsf] 6]G6 xfp;   1,000 1,000 
3= 6]G6 xfp; dfq   1,000 1,000 

37 ;]jf pBf]u     

  s= ckm;]6 k|];   1,500 1,500 
v= :qmLg lk|G6 k|];   1,500 1,500 
u= n]h/ lk|G6 k]|;   500 500 
3= l;g]df xn   2,000 2,000 
ª= lkmNd l8:6LJo"6;{   500 500 
r= sn/ Nofa ;]jf   1,000 1,000 
5= lel8of] ldlS;ª   500 500 
h= kmf]6f] :6'l8of]   500 500 

38 ;+rf/   
  

  s= 6]lnkmf]g, 6+sn, ˆofS;, df]jfOn ;]jf k|bfos sDkgL   2,000 2,000 
v= l6=eL= Rofgn k|;f/0f   2,000 2,000 
u= s]jn Rofgn k|;f/0f   1,500 1,500 
3= Pkm Pd k|;f/0f   1,000 1,000 
ª= kq klqsf k|sf;g ;]jf   1,000 1,000 

39 sDo"lgs]zg ;]jf     

  s= 6';{ P08 6«feN; ;]jf   1,000 1,000 
v= kmf]6f]skL, lk=l;=cf]=, ;fOa/ tyf Sofkm]   1,000 1,000 
v= s'l/o;{ ;]jf d'Vo sfof{no   1,000 1,000 
u= s'l/o;{ ;]jf zfvf sfof{no   500 500 

40 ljlQo ;]jf -g]kfn ;/sf/sf] k"0f{ :jfldTjdf /x]sf a}+sx? afx]s_   
  

  s= jfl0fHo a}+s lghL :t/ d'Vo sfof{no    30,000 30,000 



v= jfl0fHo a}+s k|lt zfvf sfof{no   10,000 10,000 
u= ljsf; j}s d'Vo sfof{no   20,000 20,000 
3= ljsf; a}+s k|lt zfvf sfof{no   8,000 8,000 
ª= kmfOgfG; sDkgL d'Vo sfof{no   10,000 10,000 
r= kmfOgfG; sDkgL k|lt zfvf sfof{no   3,000 3,000 
5= n3' ljQ sDkgL   5,000 5,000 
h= ljdf sDkgLx?   5,000 5,000 
em= dgL PS;r]Gh/   2,000 2,000 
`= ljlQo ;xsf/L ;+:yf   1,000 1,000 
6= yk sfpG6/   2,000 2,000 
7 cGo ;xsf/L ;+:yf 

 

800 800 

r u}/ gfkmfd'vL sNax? 

 

300 300 

41 :jf:Yo ;]jf Joj;fo     
 

   
  s= u}/ ;/sf/L c:ktfn tyf gl;{ª xf]d   2,000 2,000 

v= Pd cf/ cfO{, l;l6 :Sofg, cN6«f;fp08 lSnlgs / kf]ln 

lSnlgs   2,000 2,000 
u= Kofyfnf]lh   1,000 1,000 
3= cSo"k+r/   1,000 1,000 
ª  PS;/]   1,000 1,000 
r= rZdf k;n   1,000 1,000 

42 lzIff ;]jf   
  

  s= lghL SofDk; tyf pRr df= lj=    2,000 2,000 
v= lghL df= lj=   1,500 1,500 
u= lghL cfwf/e"t   1,000 1,000 
3= lghL k|f=lj=, k'j{ k|f=lj=, 5fqfjf;, dG6]Zj/L   500 500 
ª= kf]ln 6]SgLsn OlG6Ro"6 k|lzIf0f ;d]t   1,000 1,000 
r= gl;{ª, l;= Pd= P=, Pr= P= k|lzIf0f ;d]t   1,500 1,500 
5= Ph's]:gn sG;N6]G;L ;]jf   1,500 1,500 
h= sDKo"6/ On]S6«f]lgs tflnd   1,500 1,500 
em= ;jf/L rfns tflnd   1,000 1,000 
`= efiff, lzIff, sf]lrª ;]G6/   1,000 1,000 

43 

lzIff ;]jf sIf yk lghL ljBfno dfq 
 

  
cfwf/e't tx sIff–! gof ljBfno 

 5000 5000 
cfwf/e't tx sIff–^  

 7500 7500 
dfWolds tx sIff–( 

 10000 10000 



dfWolds tx sIff–!! 
 15000 15000 

cfwf/e't tx sIff–@ b]vL % sIff ;Ddf k|lt sIff  
 2000 2000 

cfwf/e't tx sIff–& b]vL * sIff ;Ddf k|lt sIff  
 3000 3000 

cfwf/e't tx sIff–!) b]vL !@ sIff ;Ddf k|lt sIff  
 5000 5000 

44 cGt/fli6«o u}/ ;/sf/L ;+:yf   
  

  s= cGt/fli6«o ;+:yf Joj;flos sf/f]jf/ ug]{   5,000 5,000 
v= /fli6«o ;+:yf   2,500 2,500 

45 dd{t ;+ef/ -sf/vfgf_     

  s= ;jf/L ;fwgsf] a8L d]s/   3,000 15000 
v= jf]l8 dd{t ug]{ v >]0fL    2,500 5000 
3= 6fo/ l8n/ ;f] ?d   2,000 2,000 
ª= 6fo/ l/;f]lnª   2,000 2,000 
r= 6fo/ kGr/ dd{t   500 500 
5= OlGhg dd{t   1,000 1,000 
h= 8]G6Lª, k]G6Lª tyf j]lN8ª   1,000 4000 
em= 8]G6Lª dfq   500 1000 
`= k]lG6ª dfq   500 1000 
6= kDk ;]S;g dd{t   1,000 1,000 
7= Jofl6« On]S6«Ls ;]S;g dd{t   1,000 1,000 
8= jfl;ª ;]S;g   500 500 
9= l/S;f ;fO{sn ljqmL   1,000 1,000 
0f= l/S;f, ;fOsn dd{t tyf ljqmL ;xLt   1,500 1,500 
t= l/S;f ;fOsn dd{t   500 500 
y= l6= le=, 8]u, df]afOn, lkm|h dd{t, sDKo"6/ dd{t   1,000 1,000 
b= /]l8of], 3l8, SofNs'n]6/ dd{t   500 500 
w= df]6/;fOsn dd{t   1,000 1,000 
g= sDkgL k§f, /]l8o6/, lu|;, x]8 dd{t   500 500 
k= h]g]/]6/, lkm|h, sDKo"6/ dd{t   500 500 

46 x]eL OSo"kd]G6   
  

  s= x]eL OSo"kd]G6 vl/b ljqmL   5,000 5,000 
v= cGo sjf8 vl/b ljqmL   1,500 1,500 

47 cGo ;]jf     

  s= j}b]lzs /f]huf/ ;]jf k/fd;{ bftf   3,000 3,000 
v= j}b]lzs /f]huf/ k/fd;{ ;]jf zfvf sfof{no   2,000 2,000 
u= ;]jf k/fd;{ bftf   1,500 1,500 



3= >lds ;]jf k/fdz{ bftf   1,000 1,000 
ª= ;fdfg ;lxt >lds ;]jf k/fdz{ bftf   1,500 1,500 
r= ;]S/]6l/on ;]jf dfq   1,000 1,000 

48 8«fO lslNgs, ;}n'g tyf Jo"l6kfn{/     

  s= Jo"l6 kfn{/ ;]jf, tflnd ;lxtsf] -% hgf eGbf j9L sfl/u9_   1,000 1,000 
v= Jo"l6 kfn{/ ;]jf   500 500 
u= sflnu9 ;lxtsf] ;}n'g ;]jf -@ l;6 dfyL_   1,000 1,000 
3= ;}n'g ;]jf @ l;6 ;Ddsf]   500 500 
ª= 8«fOlSnlgs ;]jf    500 500 

49 ;fO{g jf]8{ cf6{ Joj;fo     

  s= l8lh6n cf6{ Joj;fo   1,000 1,000 
v= cGo cf6{ Joj;fo   1,000 1,000 

50 kz' jwzfnf     

  s= kz' jw\zfnf    1,000 1,000 
v= kz'sf] 5fnf ;+sng tyf ljqmL   500 500 

51 df5f df;' ljqmL k;n    
  

  s= Koflsª df5f df;' ;Knfo;{   1,000 1,000 
v= df5f df;' dWo] sDtLdf # j6f ;]jf lbg] k;n   1,500 1,500 
u= df5f df;' dWo] sDtLdf @ j6f ;]jf lbg] k;n   1,000 1,000 
3= s'g} Ps ;]jf dfq   500 500 
ª= c08f ljqmL k;n   500 500 

52 km'n lj?jf k;n     

  s= g;{/L   1,500 1,500 
v= km'n ljqmL   500 500 

53 :g's/ tyf k'n xfp;     

  s= :g's/ tyf k'n xfp; b'j} ePsf]   1,000 1,000 
v= :g's/ dfq   500 500 
u= k'n xfp;   500 500 

54 ef8f k;n tyf lsrg ;fdfu|L   
  

  s= yf]s k;n    3,000 3,000 
v= v'b|f    1,000 1,000 
u= ;fdfGo ef8f k;n    1,000 1,000 

55 v]nf}gf, lukm\6 xfp; tyf kmf]6f] km|]d k;n -zf]?d_     

  s= v]nf}gf tyf lukm\6 k;n    1,000 1,000 
v= v]nf}gf dfq    500 500 



u= kmf]6f] km|]d    500 500 
56 l;nfO{ d]lzg dd{t tyf l;nfO{ k;n     

  s= l;nfO{ :k]:ln:6 k;n    1,500 1,500 
s= l;nfO{ k;n    1,000 1,000 
v= l;nfO{ d]lzg dd{t    500 500 
u= Jo"l6s Nofa|f]6/L    500 500 
;+lut snf s]Gb|     500 500 

57 3'lDt xf6ahf/df Joj;fo ug]{ Joj;foLsf] xsdf b}lgs     

  s= km]G;L tyf sk8f k;n    1,000 1,000 
v= ls/fgf lj;ftf tyf ef8f k;n    1,000 1,000 
u= cGo k|s[ltsf    500 500 

58 dfyL pNn]v gePsf] cGo k]zf Joj;fo     

  s= l8:6LAo'6;{ yf]s k;n    2,000 2,000 
v= v'b|f k;n    1,000 1,000 
u s'g} gv'n]sJ cGo 

 

2000 2000 

 

 


